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10 3 3 0 0 0 0 0 6
(H15. 11) 1,923 887 634 1 0 0 90 3, 535
% 2 1] 3 5 0 0 0 0 0 8
(H16. 4) 1,743 939 650 0 0 0 100] 3,432
% 3 [a] 4 4 0 3 0 0 0 11
(H16. 1) 1, 759 942 627 169 0 0 84 3, 581
1 4 0] 2 4 0 1 0 0 0 7
(H17.4) 1, 804 928 604 180 0 0 80 3, 596
% 5 [l 3 3 0 1 0 0 0 7
(H17.11) 1, 802 929 604 179 0 0 79 3, 593
%6 3 1 0 0 0 0 0 4
(H18. 4) 1, 806 917 608 180 0 0 80 3, 591
o 7 Il 5 1 0 3 0 0 0 9
(H18. 11) 2, 022 680 623 179 0 0 90 3, 594
% 8 [ 2 4 0 1 0 0 0 7
(H19.4) 1,993 695 634 179 0 0 90 3,591
% 9l 2 4 0 0 0 0 0 6
(H19. 11) 1,817 933 602 179 0 0 85 3,616
%10 0 4 0 1 0 0 0 5
(120. 4) 1,816 935 602 179 0 0 85 3,617
110 2 3 0 0 0 0 0 5
(H20.11) 1,816 932 610 169 0 0 85 3,612
#1210 4 7 0 1 0 0 0 12
(H21.4) 1,827 932 614 160 0 0 84 3,617
1 308 1 6 0 0 0 0 0 7
(21 11) 1,832 936 615 148 0 0 85 3,616
1 40 4 4 0 2 0 0 0 10
(H22.4) 1,835 936 619 145 0 0 88 3,623
%1 50 0 5 0 0 0 0 0 5
(H22.11) 1,835 937 619 144 0 0 87 3, 622
%16 3 3 1 0 0 0 0 7
(123, 4) 1,828 935 610 147 0 0 89 3, 609
1 70 1 7 0 1 0 0 0 9
(123 11) 1,839 934 622 136 0 0 93 3, 624
51 8l 1 8 0 2 0 0 0 11
(1124, 4) 1,842 941 620 137 0 0 94 3, 634
551 9] 1 9 0 3 0 0 0 13
(24 11) 1,835 941 621 137 0 0 99 3, 633
%2 0l 2 5 0 1 0 0 0 8
(125, 4) 1,853 936 625 137 0 0 94 3, 645
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#2100 0 6 0 1 0 0 0 7
(H25.11) 1, 838 930 621 140 0 0 86 3,615
%2 2] 2 6 0 0 0 0 0 8

(H26. 4) 1, 839 935 632 139 0 0 84 3, 629
%2 30 0 4 2 2 0 0 0 8
(H26. 11) 1, 845 933 623 138 0 0 63 3, 602
#2410 3 8 0 1 0 0 0 12

(H27. 4) 1, 836 934 620 137 0 0 84 3,611
%2 5] 3 3 0 2 0 0 0 8
(H27.11) 1, 840 933 638 137 0 0 60 3, 608
52 6 2 6 1 0 0 0 0 9

(H28. 4) 1, 846 941 643 137 0 0 57 3,624
B2 7 1 3 1 1 0 0 0 6
(H28. 11) 1, 843 935 646 120 0 0 74 3,618
%2 8l 2 13 0 1 0 0 0 16

(H29. 4) 1,853 941 652 120 0 0 55 3, 621
#2 9 0 10 0 3 0 0 0 13
(H29.11) 1, 825 940 622 136 0 0 91 3,614
553 0l 0 5 1 3 0 0 0 9

(H30. 4) 1, 837 941 625 138 0 0 87 3, 628
%3 10 6 7 2 2 0 0 0 17
(H30.11) 1, 829 943 620 139 0 3 100 3, 634
%3 2 2 3 0 1 0 0 0 6

(R7C. 5) 1,827 947 625 138 0 5 100 3, 642
%3 300 3 9 2 3 0 0 0 17
(R7C. 11) 1, 832 943 618 135 5 4 100 3, 637
%3 410 4 9 0 3 0 0 0 16

(R2. 4) 1,832 944 619 136 4 3 99 3,637
%3 5] 3 4 2 1 0 0 0 10

(R2.11) 1,842 942 630 137 3 3 99 3, 656
%3 60 1 7 0 6 2 0 0 16

(R3. 4) 1,833 944 631 139 2 2 100 3,651
%3 70 6 9 0 4 0 0 0 19

(R3. 11) 1,838 943 621 139 2 1 100 3, 644
%3 8] 3 12 2 5 0 0 0 22

(R4. 4) 1,835 945 631 135 1 0 95 3, 642
%3 9 3 7 2 6 0 0 0 18

(Re. 11) 1,815 949 625 137 1 0 82 3, 609
%4 0] 9 7 0 4 0 0 0 20

(R5. 4) 1,838 950 632 135 2 0 81 3, 638
#4100 6 8 0 1 0 0 0 15

(R5. 11) 1, 856 958 645 89 2 1 90 3, 641

ant 105 236 16 70 2 0 0 429

75,406]  37,916] 25,582 5, 636 22 22 3,548 148,182




